SPSS Syntax for the Replication of the Analyses in “The Role of the Interviewer in Producing Mode Effects: Results from a Mixed Modes Experiment Comparing Face-to-Face, Telephone and Web”


This document lists the syntax for all of the multiple logistic regression analyses while factoring the correlated interviewer variance and using 5 demographic variables to control for differential nonresponse between CAPI, CATI and web.

The first part filters for internet access and sets up the control variables which are used for every regression. The second part shows the syntax for each regression by table.

Part 1 For All Regressions – Filtering for Internet Access and Creating the Control Variables

*THIS IS VERY IMPORTANT. The analyses exclude ‘never use internet’ cases. This reduces the dataset from 1138 to 945. THE 1138 VERSION IS NOT USED.

*Create the reduced version as follows.
SELECT IF (intacc gt 2).
*And save the outfile.


* ALL OF THE REGRESSIONS ALSO USE THE FOLLOWING CONTROL VARIABLES.

* sex is ‘respsex’.

* economic status is ‘EconSt2’ recoded into ‘EconSt2rec’.
recode EconSt2 (1,2,3=1) (4,8=2) (5=3) (else=4) into EconSt2rec.
val labels EconSt2rec 1 ' Working' 2 'Unemployed/sick' 3 'Retired' 4 'Other'.

* age is ‘respage’ and recoded into ‘age_gp’.
recode respage (16 thru 24=1) (25 thru 34=2) (35 thru 44=3) (45 thru 54=4) (55 thru 64=5) (65 thru hi=6) into age_gp.
val labels age_gp 1 '16-24' 2 '25-34' 3 '35-44' 4 '45-54' 5 '55-64' 6 '65+'.

* marital status is ‘respMst’ and recoded into ‘RespMstrec’.
recode respMst (1=1) (2,3=2) (else=3) (else=copy) into RespMstrec.
val labels RespMstrec 1 'Single' 2 'Married/civil partner' 3 'Separated/Divorced/Widowed'.

* Ethnicity is ‘ethnic’ and recoded into ‘ethnicrec’.
recode ethnic (1,2,3=1) (else=2) into ethnicrec.
val labels ethnicrec 1 'White' 2 'Other'.




Part 2 for All Tables

Accounting for the correlated variance due to interviewers – Also see Section 3.3 of the paper

The design effect (DEFF) for each variable was used to calculate neff (the effective sample size = n/DFFF). A random subset was taken from the whole sample for CAPI and/or CATI based on the neff for that variable. Each regression based on randomly drawn subsets of cases was run 5 times and the average results used. The exceptions were: 

(1) When rho (the intraclass correlation which is used to calculate DEFF) was negative.[footnoteRef:1] In these cases, researchers can set rho to 0 (O’Muircheartaigh and Campanelli, 1998).[footnoteRef:2] This translates into a DEFF equal to1 and neff equal to the original sample size.  [1:  According to Kish (1965), the formula for the DEFF for cluster sampling is 1+ Rho (b-1) where Rho is the intracluster correlation coefficient (measuring cluster homogeneity) and b is the cluster size. The DEFF for interviewers is equivalent: 1 + RhoInterviewers (m-1) where RhoInterviewers is the intraclass correlation coefficient and m is the interviewer workload size. (m-bar may be substituted for m if interviewers have different workload sizes.)]  [2:  O’Muircheartaigh, C. and Campanelli, P. (1998), The Relative Impact of Interviewer Effects and Sample Design Effects on Survey Precision, Journal of the Royal Statistical Society, Series A, 161(1), 63-77.] 

(2) When a variable was crossed with a format experiment[footnoteRef:3], the workload sizes for CAPI interviewers were too small (1 to 5 cases) to accurately calculate rho. Such small workload sizes would have a negligible effect on the correlated interviewer variance due to CAPI interviewers.  [3:  (1) few answer categories versus many, (2) rating versus ranking, (3) agree/disagree statements versus forced choice, (4) ‘yes/no’ versus ‘mark all that apply’, (5) branching versus non-branching, (6) fully-labeled versus end-labeled items and (7) showcard versus no showcard on long lists in CAPI. Experiments (1) and (7) were crossed for CAPI.
] 


IMPORTANT: BEFORE YOU START, YOU NEED TO TAKE THE 945 CASE FILE AND DIVIDE IT INTO THE FOLLOWING SUB FILES.

*First create dummy variables for Intmode so these are in all of your subfiles.
Recode intmode (1=1) (2=0) (3=0) into intmode_1.
Recode intmode (1=0) (2=1) (3=0) into intmode_2.
Recode intmode (1=0) (2=0) (3=1) into intmode_3.

*Then create the subfiles.
*Open the file with the 945 cases which you made.
*For CAPI.
Select if (intmode=1).
*Save outfile.

*Re-open the 945 case file.
*For CATI.
Select if (intmode=2).
*Save outfile.

*Re-open the 945 case file.
*For web.
Select if (intmode=3).
*Save outfile.

*Re-open the 945 case file.
*For CAPI and web together.
Select if (intmode=1 or intmode=3).

*Re-open the 945 case file.
*For CATI and web together.
Select if (intmode=2 or intmode=3).
*Save outfile.

* Then create macros for the logistic regression models. Intmode is coded (CAPI=1, CATI=2 and web=3). The contrast subcommand is currently set for comparisons to web (i.e., web is the omitted category). But this can be changed by changing the number to 1 or 2.

* Without correlated interviewer variance accounted for.
define regr (!pos !tokens(1)/!pos !tokens(1)).
LOGISTIC REGRESSION VARIABLES  !1
  /METHOD = ENTER IntMode RespSex age_gp EconSt2rec RespMStrec Ethnicrec
  /contrast (IntMode)=Indicator(3)
  /contrast ( RespSex ) = Indicator(1)
  /contrast ( age_gp ) = Indicator(1)
  /contrast ( EconSt2rec ) = Indicator(1)
  /contrast ( RespMStrec ) = Indicator(1)
  /contrast ( Ethnicrec ) = Indicator(1)
/CRITERIA = PIN(.05) POUT(.10) ITERATE(20) CUT(.5) .
!enddefine.

*Or recode intmode and use the transformed version. 

Recode intmode (1=1) (2=0) (3=0) into intmode_1.
Recode intmode (1=0) (2=1) (3=0) into intmode_2.
Recode intmode (1=0) (2=0) (3=1) into intmode_3.

* With correlated interviewer variance accounted for.
define regr (!pos !tokens(1)/!pos !tokens(1)).
LOGISTIC REGRESSION VARIABLES  !1
    /METHOD = ENTER  RespSex  age_gp EconSt2rec RespMStrec Ethnicrec intmode_1 intmode_2
/contrast ( RespSex ) = Indicator(1)
/contrast ( age_gp ) = Indicator(1)
/contrast ( EconSt2rec ) = Indicator(1)
/contrast ( RespMStrec ) = Indicator(1)
/contrast ( Ethnicrec ) = Indicator(1)
/CRITERIA = PIN(.05) POUT(.10) ITERATE(20) CUT(.5) .
!enddefine.



For Table 3 - Mode differences in two ranking tasks
	Question ID
	Actual Question Numbers
	CAPI neff (n/design effect for CAPI interviewers)
	Syntax

	Duplicate ranks
	
	
	

	19
	N29x
	Workload size too small
	*DUPLICATE RANKS – Hypothesis WEB>CAPI.

GET
  FILE=‘945 cases’.

*sum ranks across the 6 items.
compute rank29_1=N29x+N29x2+N29x3+N29x4+N29x5+N29x6.

*sum of ranks for 6 items should equal 21 if all items ranked correctly.
*if total is 21=1; if total not 21=0.
recode rank29_1 (21=1) (missing=sysmis) (else=0) into rank29_2.

temp.
select if (intmode ne 2 and xyroute eq 1).
regr rank29_2.


	20
	N45y
	Workload size too small
	*DUPLICATE RANKS – Hypothesis WEB>CAPI.

GET
  FILE=‘945 cases’.

*sum ranks across the 7 items.
compute rank45_1=N45y+N45y2+N45y3+N45y4+N45y5+N45y6+N45y7.

*sum of ranks for 7 items should equal 28 if all items ranked correctly.
*if total is 28=1; if total not 28=0.
recode rank45_1 (28=1) (missing=sysmis) (else=0) into rank45_2.

temp.
select if (intmode ne 2 and xyroute eq 2).
regr rank45_2.


	Non-differentiation
	
	
	

	19
	N29x
	Workload size too small
	*NON-DIFFERENTIATION – Hypothesis WEB>CAPI.

GET
  FILE=‘945 cases’.

*include missing values, set to 9.
compute N29xm=N29x.
compute N29x2m=N29x2.
compute N29x3m=N29x3.
compute N29x4m=N29x4.
compute N29x5m=N29x5.
compute N29x6m=N29x6.
if (missing (N29xm)) N29xm=9.
if (missing (N29x2m)) N29x2m=9.
if (missing (N29x3m)) N29x3m=9.
if (missing (N29x4m)) N29x4m=9.
if (missing (N29x5m)) N29x5m=9.
if (missing (N29x6m)) N29x6m=9.


*For non-differentiation for all 6.
compute  rank29_3=N29xm*100000+N29x2m*10000+N29x3m*1000+N29x4m*100+N29x5m*10+N29x6m.
recode rank29_3 (111111=1) (222222=1) (333333=1) (444444=1) (555555=1) (666666=1) (missing=sysmis) (else=0) into rank29_5.


*For non-differentiation for 5 of 6.
Compute n29xflag=0.
If (N29x ne 1 and n29x2 eq 1 and n29x3 eq 1 and n29x4 eq 1 and n29x5 eq 1 and n29x6 eq 1) n29xflag =1.
If (N29x eq 1 and n29x2 ne 1 and n29x3 eq 1 and n29x4 eq 1 and n29x5 eq 1 and n29x6 eq 1) n29xflag =1.
If (N29x eq 1 and n29x2 eq 1 and n29x3 ne 1 and n29x4 eq 1 and n29x5 eq 1 and n29x6 eq 1) n29xflag =1.
If (N29x eq 1 and n29x2 eq 1 and n29x3 eq 1 and n29x4 ne 1 and n29x5 eq 1 and n29x6 eq 1) n29xflag =1.
If (N29x eq 1 and n29x2 eq 1 and n29x3 eq 1 and n29x4 eq 1 and n29x5 ne 1 and n29x6 eq 1) n29xflag =1.
If (N29x eq 1 and n29x2 eq 1 and n29x3 eq 1 and n29x4 eq 1 and n29x5 eq 1 and n29x6 ne 1) n29xflag =1.
If (N29x ne 2 and n29x2 eq 2 and n29x3 eq 2 and n29x4 eq 2 and n29x5 eq 2 and n29x6 eq 2) n29xflag =2.
If (N29x eq 2 and n29x2 ne 2 and n29x3 eq 2 and n29x4 eq 2 and n29x5 eq 2 and n29x6 eq 2) n29xflag =2.
If (N29x eq 2 and n29x2 eq 2 and n29x3 ne 2 and n29x4 eq 2 and n29x5 eq 2 and n29x6 eq 2) n29xflag =2.
If (N29x eq 2 and n29x2 eq 2 and n29x3 eq 2 and n29x4 ne 2 and n29x5 eq 2 and n29x6 eq 2) n29xflag =2.
If (N29x eq 2 and n29x2 eq 2 and n29x3 eq 2 and n29x4 eq 2 and n29x5 ne 2 and n29x6 eq 2) n29xflag =2.
If (N29x eq 2 and n29x2 eq 2 and n29x3 eq 2 and n29x4 eq 2 and n29x5 eq 2 and n29x6 ne 2) n29xflag =2.
If (N29x ne 3 and n29x2 eq 3 and n29x3 eq 3 and n29x4 eq 3 and n29x5 eq 3 and n29x6 eq 3) n29xflag =3.
If (N29x eq 3 and n29x2 ne 3 and n29x3 eq 3 and n29x4 eq 3 and n29x5 eq 3 and n29x6 eq 3) n29xflag =3.
If (N29x eq 3 and n29x2 eq 3 and n29x3 ne 3 and n29x4 eq 3 and n29x5 eq 3 and n29x6 eq 3) n29xflag =3.
If (N29x eq 3 and n29x2 eq 3 and n29x3 eq 3 and n29x4 ne 3 and n29x5 eq 3 and n29x6 eq 3) n29xflag =3.
If (N29x eq 3 and n29x2 eq 3 and n29x3 eq 3 and n29x4 eq 3 and n29x5 ne 3 and n29x6 eq 3) n29xflag =3.
If (N29x eq 3 and n29x2 eq 3 and n29x3 eq 3 and n29x4 eq 3 and n29x5 eq 3 and n29x6 ne 3) n29xflag =3.
If (N29x ne 4 and n29x2 eq 4 and n29x3 eq 4 and n29x4 eq 4 and n29x5 eq 4 and n29x6 eq 4) n29xflag =4.
If (N29x eq 4 and n29x2 ne 4 and n29x3 eq 4 and n29x4 eq 4 and n29x5 eq 4 and n29x6 eq 4) n29xflag =4.
If (N29x eq 4 and n29x2 eq 4 and n29x3 ne 4 and n29x4 eq 4 and n29x5 eq 4 and n29x6 eq 4) n29xflag =4.
If (N29x eq 4 and n29x2 eq 4 and n29x3 eq 4 and n29x4 ne 4 and n29x5 eq 4 and n29x6 eq 4) n29xflag =4.
If (N29x eq 4 and n29x2 eq 4 and n29x3 eq 4 and n29x4 eq 4 and n29x5 ne 4 and n29x6 eq 4) n29xflag =4.
If (N29x eq 4 and n29x2 eq 4 and n29x3 eq 4 and n29x4 eq 4 and n29x5 eq 4 and n29x6 ne 4) n29xflag =4.
If (N29x ne 5 and n29x2 eq 5 and n29x3 eq 5 and n29x4 eq 5 and n29x5 eq 5 and n29x6 eq 5) n29xflag =5.
If (N29x eq 5 and n29x2 ne 5 and n29x3 eq 5 and n29x4 eq 5 and n29x5 eq 5 and n29x6 eq 5) n29xflag =5.
If (N29x eq 5 and n29x2 eq 5 and n29x3 ne 5 and n29x4 eq 5 and n29x5 eq 5 and n29x6 eq 5) n29xflag =5.
If (N29x eq 5 and n29x2 eq 5 and n29x3 eq 5 and n29x4 ne 5 and n29x5 eq 5 and n29x6 eq 5) n29xflag =5.
If (N29x eq 5 and n29x2 eq 5 and n29x3 eq 5 and n29x4 eq 5 and n29x5 ne 5 and n29x6 eq 5) n29xflag =5.
If (N29x eq 5 and n29x2 eq 5 and n29x3 eq 5 and n29x4 eq 5 and n29x5 eq 5 and n29x6 ne 5) n29xflag =5.
If (N29x ne 6 and n29x2 eq 6 and n29x3 eq 6 and n29x4 eq 6 and n29x5 eq 6 and n29x6 eq 6) n29xflag =6.
If (N29x eq 6 and n29x2 ne 6 and n29x3 eq 6 and n29x4 eq 6 and n29x5 eq 6 and n29x6 eq 6) n29xflag =6.
If (N29x eq 6 and n29x2 eq 6 and n29x3 ne 6 and n29x4 eq 6 and n29x5 eq 6 and n29x6 eq 6) n29xflag =6.
If (N29x eq 6 and n29x2 eq 6 and n29x3 eq 6 and n29x4 ne 6 and n29x5 eq 6 and n29x6 eq 6) n29xflag =6.
If (N29x eq 6 and n29x2 eq 6 and n29x3 eq 6 and n29x4 eq 6 and n29x5 ne 6 and n29x6 eq 6) n29xflag =6.
If (N29x eq 6 and n29x2 eq 6 and n29x3 eq 6 and n29x4 eq 6 and n29x5 eq 6 and n29x6 ne 6) n29xflag =6.
recode n29xflag (1=1) (2=1) (3=1) (4=1) (5=1) (6=1) (0=0) (missing=sysmis) into n29xflag_2.


*Combining both.
compute rank29_6 =rank29_5.
If (n29xflag_2 eq 1) rank29_6=1.
Execute.

temp.
select if (intmode ne 2 and xyroute eq 1).
regr rank29_6.


	20
	N45y
	Workload size too small
	*NON-DIFFERENTIATION– Hypothesis WEB>CAPI.

GET
  FILE=‘945 cases’.
.
*include missing values, set to 9.
compute N45ym =N45y .
compute N45y2m =N45y2 .
compute N45y3m =N45y3 .
compute N45y4m =N45y4 .
compute N45y5m =N45y5 .
compute N45y6m=N45y6.
compute N45y7m=N45y7.
if (missing (N45ym)) N45ym =9.
if (missing (N45y2m )) N45y2m=9.
if (missing (N45y3m )) N45y3m =9.
if (missing (N45y4m )) N45y4m =9.
if (missing (N45y5m )) N45y5m =9.
if (missing (N45y6m)) N45y6m=9.
if (missing (N45y7m)) N45y7m=9.


*For non-differentiation for all 7.
compute  rank45_3=N45ym*1000000+N45y2m*100000+N45y3m*10000+N45y4m*1000+N45y5m*100+N45y6m*10+N45y7m.
recode rank45_3 (1111111=1) (2222222=1) (3333333=1) (4444444=1) (5555555=1) (6666666=1) (7777777=1) (missing=sysmis) (else=0) into rank45_5.


*For non-differentiation for 6 of 7.
Compute N45yflag=0.
If (N45y ne 1 and N45y2 eq 1 and N45y3 eq 1 and N45y4 eq 1 and N45y5 eq 1 and N45y6 eq 1 and N45y7 eq 1) N45yflag =1.
If (N45y eq 1 and N45y2 ne 1 and N45y3 eq 1 and N45y4 eq 1 and N45y5 eq 1 and N45y6 eq 1 and N45y7 eq 1) N45yflag =1.
If (N45y eq 1 and N45y2 eq 1 and N45y3 ne 1 and N45y4 eq 1 and N45y5 eq 1 and N45y6 eq 1 and N45y7 eq 1) N45yflag =1.
If (N45y eq 1 and N45y2 eq 1 and N45y3 eq 1 and N45y4 ne 1 and N45y5 eq 1 and N45y6 eq 1 and N45y7 eq 1) N45yflag =1.
If (N45y eq 1 and N45y2 eq 1 and N45y3 eq 1 and N45y4 eq 1 and N45y5 ne 1 and N45y6 eq 1 and N45y7 eq 1) N45yflag =1.
If (N45y eq 1 and N45y2 eq 1 and N45y3 eq 1 and N45y4 eq 1 and N45y5 eq 1 and N45y6 ne 1 and N45y7 eq 1) N45yflag =1.
If (N45y eq 1 and N45y2 eq 1 and N45y3 eq 1 and N45y4 eq 1 and N45y5 eq 1 and N45y6 eq 1 and N45y7 ne 1) N45yflag =1.
If (N45y ne 2 and N45y2 eq 2 and N45y3 eq 2 and N45y4 eq 2 and N45y5 eq 2 and N45y6 eq 2 and N45y7 eq 2) N45yflag =2.
If (N45y eq 2 and N45y2 ne 2 and N45y3 eq 2 and N45y4 eq 2 and N45y5 eq 2 and N45y6 eq 2 and N45y7 eq 2) N45yflag =2.
If (N45y eq 2 and N45y2 eq 2 and N45y3 ne 2 and N45y4 eq 2 and N45y5 eq 2 and N45y6 eq 2 and N45y7 eq 2) N45yflag =2.
If (N45y eq 2 and N45y2 eq 2 and N45y3 eq 2 and N45y4 ne 2 and N45y5 eq 2 and N45y6 eq 2 and N45y7 eq 2) N45yflag =2.
If (N45y eq 2 and N45y2 eq 2 and N45y3 eq 2 and N45y4 eq 2 and N45y5 ne 2 and N45y6 eq 2 and N45y7 eq 2) N45yflag =2.
If (N45y eq 2 and N45y2 eq 2 and N45y3 eq 2 and N45y4 eq 2 and N45y5 eq 2 and N45y6 ne 2 and N45y7 eq 2) N45yflag =2.
If (N45y eq 2 and N45y2 eq 2 and N45y3 eq 2 and N45y4 eq 2 and N45y5 eq 2 and N45y6 eq 2 and N45y7 ne 2) N45yflag =2.
If (N45y ne 3 and N45y2 eq 3 and N45y3 eq 3 and N45y4 eq 3 and N45y5 eq 3 and N45y6 eq 3 and N45y7 eq 3) N45yflag =3.
If (N45y eq 3 and N45y2 ne 3 and N45y3 eq 3 and N45y4 eq 3 and N45y5 eq 3 and N45y6 eq 3 and N45y7 eq 3) N45yflag =3.
If (N45y eq 3 and N45y2 eq 3 and N45y3 ne 3 and N45y4 eq 3 and N45y5 eq 3 and N45y6 eq 3 and N45y7 eq 3) N45yflag =3.
If (N45y eq 3 and N45y2 eq 3 and N45y3 eq 3 and N45y4 ne 3 and N45y5 eq 3 and N45y6 eq 3 and N45y7 eq 3) N45yflag =3.
If (N45y eq 3 and N45y2 eq 3 and N45y3 eq 3 and N45y4 eq 3 and N45y5 ne 3 and N45y6 eq 3 and N45y7 eq 3) N45yflag =3.
If (N45y eq 3 and N45y2 eq 3 and N45y3 eq 3 and N45y4 eq 3 and N45y5 eq 3 and N45y6 ne 3 and N45y7 eq 3) N45yflag =3.
If (N45y eq 3 and N45y2 eq 3 and N45y3 eq 3 and N45y4 eq 3 and N45y5 eq 3 and N45y6 eq 3 and N45y7 ne 3) N45yflag =3.
If (N45y ne 4 and N45y2 eq 4 and N45y3 eq 4 and N45y4 eq 4 and N45y5 eq 4 and N45y6 eq 4 and N45y7 eq 4) N45yflag =4.
If (N45y eq 4 and N45y2 ne 4 and N45y3 eq 4 and N45y4 eq 4 and N45y5 eq 4 and N45y6 eq 4 and N45y7 eq 4) N45yflag =4.
If (N45y eq 4 and N45y2 eq 4 and N45y3 ne 4 and N45y4 eq 4 and N45y5 eq 4 and N45y6 eq 4 and N45y7 eq 4) N45yflag =4.
If (N45y eq 4 and N45y2 eq 4 and N45y3 eq 4 and N45y4 ne 4 and N45y5 eq 4 and N45y6 eq 4 and N45y7 eq 4) N45yflag =4.
If (N45y eq 4 and N45y2 eq 4 and N45y3 eq 4 and N45y4 eq 4 and N45y5 ne 4 and N45y6 eq 4 and N45y7 eq 4) N45yflag =4.
If (N45y eq 4 and N45y2 eq 4 and N45y3 eq 4 and N45y4 eq 4 and N45y5 eq 4 and N45y6 ne 4 and N45y7 eq 4) N45yflag =4.
If (N45y eq 4 and N45y2 eq 4 and N45y3 eq 4 and N45y4 eq 4 and N45y5 eq 4 and N45y6 eq 4 and N45y7 ne 4) N45yflag =4.
If (N45y ne 5 and N45y2 eq 5 and N45y3 eq 5 and N45y4 eq 5 and N45y5 eq 5 and N45y6 eq 5 and N45y7 eq 5) N45yflag =5.
If (N45y eq 5 and N45y2 ne 5 and N45y3 eq 5 and N45y4 eq 5 and N45y5 eq 5 and N45y6 eq 5 and N45y7 eq 5) N45yflag =5.
If (N45y eq 5 and N45y2 eq 5 and N45y3 ne 5 and N45y4 eq 5 and N45y5 eq 5 and N45y6 eq 5 and N45y7 eq 5) N45yflag =5.
If (N45y eq 5 and N45y2 eq 5 and N45y3 eq 5 and N45y4 ne 5 and N45y5 eq 5 and N45y6 eq 5 and N45y7 eq 5) N45yflag =5.
If (N45y eq 5 and N45y2 eq 5 and N45y3 eq 5 and N45y4 eq 5 and N45y5 ne 5 and N45y6 eq 5 and N45y7 eq 5) N45yflag =5.
If (N45y eq 5 and N45y2 eq 5 and N45y3 eq 5 and N45y4 eq 5 and N45y5 eq 5 and N45y6 ne 5 and N45y7 eq 5) N45yflag =5.
If (N45y eq 5 and N45y2 eq 5 and N45y3 eq 5 and N45y4 eq 5 and N45y5 eq 5 and N45y6 eq 5 and N45y7 ne 5) N45yflag =5.
If (N45y ne 6 and N45y2 eq 6 and N45y3 eq 6 and N45y4 eq 6 and N45y5 eq 6 and N45y6 eq 6 and N45y7 eq 6) N45yflag =6.
If (N45y eq 6 and N45y2 ne 6 and N45y3 eq 6 and N45y4 eq 6 and N45y5 eq 6 and N45y6 eq 6 and N45y7 eq 6) N45yflag =6.
If (N45y eq 6 and N45y2 eq 6 and N45y3 ne 6 and N45y4 eq 6 and N45y5 eq 6 and N45y6 eq 6 and N45y7 eq 6) N45yflag =6.
If (N45y eq 6 and N45y2 eq 6 and N45y3 eq 6 and N45y4 ne 6 and N45y5 eq 6 and N45y6 eq 6 and N45y7 eq 6) N45yflag =6.
If (N45y eq 6 and N45y2 eq 6 and N45y3 eq 6 and N45y4 eq 6 and N45y5 ne 6 and N45y6 eq 6 and N45y7 eq 6) N45yflag =6.
If (N45y eq 6 and N45y2 eq 6 and N45y3 eq 6 and N45y4 eq 6 and N45y5 eq 6 and N45y6 ne 6 and N45y7 eq 6) N45yflag =6.
If (N45y eq 6 and N45y2 eq 6 and N45y3 eq 6 and N45y4 eq 6 and N45y5 eq 6 and N45y6 eq 6 and N45y7 ne 6) N45yflag =6.
If (N45y ne 7 and N45y2 eq 7 and N45y3 eq 7 and N45y4 eq 7 and N45y5 eq 7 and N45y7 eq 7 and N45y7 eq 7) N45yflag =7.
If (N45y eq 7 and N45y2 ne 7 and N45y3 eq 7 and N45y4 eq 7 and N45y5 eq 7 and N45y7 eq 7 and N45y7 eq 7) N45yflag =7.
If (N45y eq 7 and N45y2 eq 7 and N45y3 ne 7 and N45y4 eq 7 and N45y5 eq 7 and N45y7 eq 7 and N45y7 eq 7) N45yflag =7.
If (N45y eq 7 and N45y2 eq 7 and N45y3 eq 7 and N45y4 ne 7 and N45y5 eq 7 and N45y7 eq 7 and N45y7 eq 7) N45yflag =7.
If (N45y eq 7 and N45y2 eq 7 and N45y3 eq 7 and N45y4 eq 7 and N45y5 ne 7 and N45y7 eq 7 and N45y7 eq 7) N45yflag =7.
If (N45y eq 7 and N45y2 eq 7 and N45y3 eq 7 and N45y4 eq 7 and N45y5 eq 7 and N45y7 ne 7 and N45y7 eq 7) N45yflag =7.
If (N45y eq 7 and N45y2 eq 7 and N45y3 eq 7 and N45y4 eq 7 and N45y5 eq 7 and N45y7 eq 7 and N45y7 ne 7) N45yflag =7.

recode n45yflag (1=1) (2=1) (3=1) (4=1) (5=1) (6=1) (7=1) (0=0) (missing=sysmis) into n45yflag_2.


*Combining both.
compute rank45_6 =rank45_5.
If (n45yflag_2 eq 1) rank45_6=1.
execute.

temp.
select if (intmode ne 2 and xyroute eq 2).
regr rank45_6.




For Table 4 - Mode differences in acquiescence as measured by the percentage choosing ‘strongly agree’ or ‘agree’
	Question ID
	Actual Question Numbers
	CAPI neff (n/design effect for CAPI interviewers)
	CATI neff (n/design effect for CATI interviewers)
	Syntax

	7
	N35xy
	263
	254
	*ACQUIESCENCE - Hypothesis CAPI not equal to WEB.

GET
  FILE=‘CAPI only cases’.
USE ALL.
SAMPLE  263 from 282.
EXECUTE.
ADD FILES /FILE=*
  /FILE= ‘CATI and WEB only cases'.
EXECUTE.
RECODE N35xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N35xyacq.
regr N35xyacq.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.



*ACQUIESCENCE - Hypothesis CATI not equal to WEB.
GET
  FILE=‘CATI only cases’.
USE ALL.
SAMPLE  254 from 314.
EXECUTE.
ADD FILES /FILE=*
  /FILE= ‘CAPI and WEB only cases'.
EXECUTE.
RECODE N35xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N35xyacq.
regr N35xyacq.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.


	8
	N36x
	Workload size too small
	Negative rho
	*ACQUIESCENCE - Hypothesis CAPI not equal to WEB and CATI not equal to WEB.

GET
  FILE=‘945 cases’.
RECODE N36x (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N36xacq.

temp.
select if (xyroute = 1 ).
regr N36xacq.


	9
	N37xy
	276
	233
	*ACQUIESCENCE - Hypothesis CAPI not equal to WEB.

GET
  FILE=‘CAPI only cases’.
USE ALL.
SAMPLE  276 from 282.
EXECUTE.
ADD FILES /FILE=*
  /FILE= ‘CATI and WEB only cases'.
EXECUTE.
RECODE N37xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N37xyacq.
regr N37xyacq.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.



*ACQUIESCENCE - Hypothesis CATI not equal to WEB.
GET
  FILE=‘CATI only cases’.
USE ALL.
SAMPLE  233 from 314.
EXECUTE.
ADD FILES /FILE=*
  /FILE= ‘CAPI and WEB only cases'.
EXECUTE.
RECODE N37xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N37xyacq.
regr N37xyacq.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.


	10
	N38x
	Small workload size
	Negative rho
	* ACQUIESCENCE - Hypothesis CAPI not equal to WEB and CATI not equal to WEB.

GET
  FILE=‘945 cases’.
RECODE N38x (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N38xacq.

temp.
select if (xyroute = 1 ).
regr N38xacq.


	11
	FM64xy
	240
	221
	*ACQUIESCENCE - Hypothesis CAPI not equal to WEB.

GET
  FILE=‘CAPI only cases’.
USE ALL.
SAMPLE  240 from 281.
EXECUTE.
ADD FILES /FILE=*
  /FILE=‘CATI and WEB only cases'.
EXECUTE.
RECODE FM64xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM64xyacq.
regr FM64xyacq.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.



*ACQUIESCENCE - Hypothesis CATI not equal to WEB.

GET
  FILE=‘CATI only cases’.
USE ALL.
SAMPLE  221 from 314.
EXECUTE.
ADD FILES /FILE=*
  /FILE= ‘CAPI and WEB only cases'.
EXECUTE.
RECODE FM64xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM64xyacq.
regr FM64xyacq.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.


	12
	FM65xy
	278
	Negative rho
	*ACQUIESCENCE - Hypothesis CAPI not equal to WEB.

GET
  FILE= ‘CAPI only cases’.
USE ALL.
SAMPLE  278 from 282.
EXECUTE.
ADD FILES /FILE=*
  /FILE=‘CATI and WEB only cases'.
EXECUTE.
RECODE FM65xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM65xyacq.
regr FM65xyacq.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.



*ACQUIESCENCE - Hypothesis CATI not equal to WEB.

GET
  FILE=‘945 cases’.
RECODE FM65xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM65xyacq.
regr FM65xyacq.


	13
	FM66xy
	Negative roh
	213
	*ACQUIESCENCE - Hypothesis CAPI not equal to WEB.

GET
  FILE=‘945 cases’.
RECODE FM66xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM66xyacq.
regr FM66xyacq.



*ACQUIESCENCE - Hypothesis CATI not equal to WEB.
GET
  FILE=‘CATI only cases’.
USE ALL.
SAMPLE  213 from 314.
EXECUTE.
ADD FILES /FILE=*
  /FILE=‘CAPI and WEB only cases'.
EXECUTE.
RECODE FM66xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM66xyacq.
regr FM66xyacq.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.


	14
	FM67x
	Small workload size
	119
	*ACQUIESCENCE - Hypothesis CAPI not equal to WEB.

GET
  FILE=‘945 cases’.
RECODE FM67x (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM67xacq.
temp.
select if (xyroute = 1 ).
regr FM67xacq.


*ACQUIESCENCE - Hypothesis CATI not equal to WEB.

GET
  FILE=‘CATI only cases’.
USE ALL.
select if (xyroute = 1 ).
SAMPLE  119 from 159.
EXECUTE.
ADD FILES /FILE=*
  /FILE=‘CAPI and WEB only cases'.
EXECUTE.
RECODE FM67x (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM67xacq.

temp.
select if (xyroute = 1 ).
regr FM67xacq.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.




Table 5 - Modes differences in acquiescence as measured by percentage agreement to opposite statements in multi-item scales
	Question ID
	Actual Question Numbers
	CAPI neff (n/design effect for CAPI interviewers)
	CATI neff (n/design effect for CATI interviewers)
	Syntax

	Neighborhood scale
	acqN35_N38_2
	Workload size too small
	Negative roh
	*ACQUIESCENCE - Hypothesis CAPI not equal to WEB and CATI no equal to WEB.

GET
  FILE=‘945 cases’.

RECODE N35xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N35xyacq.
RECODE N36x (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N36xacq.
RECODE N37xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N37xyacq.
RECODE N38x (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N38xacq.

*For agreement to all 4 statements.
compute acqN35_N38=N35xyacq+N36xacq+N37xyacq+N38xacq.
recode acqN35_N38 (4=1) (missing=sysmis) (else=0) into acqN35_N38.

*For those who agreed to two opposite statements.
compute acqN35_N38_2 =(N35xyacq +1)*1000+(N36xacq +1)*100+(N37xyacq +1)*10+(N38xacq+1).

*Combining.
compute acqN35_N38_3 = acqN35_N38.
If (acqN35_N38_2=2222) acqN35_N38_3= 1.
If (acqN35_N38_2=2212) acqN35_N38_3= 1.
If (acqN35_N38_2=1212) acqN35_N38_3= 1.

temp.
select if (xyroute = 1).
regr acqN35_N38_3.


	Financial decisions scale
	acqFM64_FM67_2
	Workload size too small
	86
	*ACQUIESCENCE - Hypothesis CAPI not equal to WEB.

GET
  FILE=‘945 cases’.

RECODE FM64xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM64xyacq.
RECODE FM65xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM65xyacq.
RECODE FM66xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM66xyacq.
RECODE FM67x (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM67xacq.
*For agreement to all 4 statements.
compute acqFM64_FM67=FM64xyacq +FM65xyacq +FM66xyacq +FM67xacq .
recode acqFM64_FM67 (4=1) (missing=sysmis) (else=0) into acqFM64_FM67.

*For those who agreed to two opposite statements.
compute acqFM64_FM67_2=(FM64xyacq+1)*1000+(FM65xyacq+1)*100+(FM66xyacq+1)*10+(FM67xacq+1).

*Combining.
compute acqFM64_FM67_3 = acqFM64_FM67.
If (acqFM64_FM67_2=2222) acqFM64_FM67_3 = 1.
If (acqFM64_FM67_2=2211) acqFM64_FM67_3 = 1.
If (acqFM64_FM67_2=2212) acqFM64_FM67_3 = 1.
If (acqFM64_FM67_2=2221) acqFM64_FM67_3 = 1.
If (acqFM64_FM67_2=1122) acqFM64_FM67_3 = 1.
If (acqFM64_FM67_2=1222) acqFM64_FM67_3 = 1.
If (acqFM64_FM67_2=2122) acqFM64_FM67_3 = 1.

temp.
select if (xyroute = 1).
regr acqFM64_FM67_3.



*ACQUIESCENCE - Hypothesis CATI not equal to WEB.

GET
  FILE='CATI only cases'.
USE ALL.
SAMPLE  86 from 161.
EXECUTE.
ADD FILES /FILE=*
  /FILE= 'CAPI and CAWI only cases'.
EXECUTE.
RECODE FM64xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM64xyacq.
RECODE FM65xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM65xyacq.
RECODE FM66xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM66xyacq.
RECODE FM67x (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO FM67xacq.

*For agreement to all 4 statements.
compute acqFM64_FM67=FM64xyacq +FM65xyacq +FM66xyacq +FM67xacq .
recode acqFM64_FM67 (4=1) (missing=sysmis) (else=0) into acqFM64_FM67.

*For those who agreed to two opposite statements.
compute acqFM64_FM67_2=(FM64xyacq+1)*1000+(FM65xyacq+1)*100+(FM66xyacq+1)*10+(FM67xacq+1).

*Combining.
compute acqFM64_FM67_3 = acqFM64_FM67.
If (acqFM64_FM67_2=2222) acqFM64_FM67_3 = 1.
If (acqFM64_FM67_2=2211) acqFM64_FM67_3 = 1.
If (acqFM64_FM67_2=2212) acqFM64_FM67_3 = 1.
If (acqFM64_FM67_2=2221) acqFM64_FM67_3 = 1.
If (acqFM64_FM67_2=1122) acqFM64_FM67_3 = 1.
If (acqFM64_FM67_2=1222) acqFM64_FM67_3 = 1.
If (acqFM64_FM67_2=2122) acqFM64_FM67_3 = 1.

temp.
select if (xyroute = 1).
regr acqFM64_FM67_3.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.



	Sensitive scale
	acqN52_N55_2
	Workload size too small
	112
	*ACQUIESCENCE - Hypothesis CAPI not equal to WEB.

GET
  FILE=‘945 cases’.
*Creating ‘acq’ variables.
RECODE N52xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N52xyacq.
RECODE N53xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N53xyacq.
RECODE N54y (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N54yacq.
RECODE N55y (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N55yacq.

*For agreement to all 4 statements.
compute acqN52_N55=N52xyacq+N53xyacq+N54yacq+N55yacq.
recode acqN52_N55 (4=1) (missing=sysmis) (else=0) into acqN52_N55.

*For those who agreed to two opposite statements.
compute acqN52_N55_2 =(N52xyacq +1)*1000+(N53xyacq +1)*100+(N54yacq +1)*10+(N55yacq+1).

*Combining.
compute acqN52_N55_3 = acqN52_N55.
If (acqN52_N55_2=2222) acqN52_N55_3 = 1.
If (acqN52_N55_2=2211) acqN52_N55_3 = 1.
If (acqN52_N55_2=2212) acqN52_N55_3 = 1.
If (acqN52_N55_2=2221) acqN52_N55_3 = 1.
If (acqN52_N55_2=1122) acqN52_N55_3 = 1.
If (acqN52_N55_2=1222) acqN52_N55_3 = 1.
If (acqN52_N55_2=2122) acqN52_N55_3 = 1.

temp.
select if (xyroute = 2).
regr acqN52_N55_3.



*ACQUIESCENCE - Hypothesis CATI not equal to WEB.

GET
  FILE=' CATI only cases'.
USE ALL.
SAMPLE  112 from 155.
EXECUTE.
ADD FILES /FILE=*
  /FILE= 'CAPI and CAWI only cases'.
EXECUTE.
RECODE N52xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N52xyacq.
RECODE N53xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N53xyacq.
RECODE N54y (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N54yacq.
RECODE N55y (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N55yacq.

*For agreement to all 4 statements.
compute acqN52_N55=N52xyacq+N53xyacq+N54yacq+N55yacq.
recode acqN52_N55 (4=1) (missing=sysmis) (else=0) into acqN52_N55.

*For those who agreed to two opposite statements.
compute acqN52_N55_2 =(N52xyacq +1)*1000+(N53xyacq +1)*100+(N54yacq +1)*10+(N55yacq+1).

*Combining.
compute acqN52_N55_3 = acqN52_N55.
If (acqN52_N55_2=2222) acqN52_N55_3 = 1.
If (acqN52_N55_2=2211) acqN52_N55_3 = 1.
If (acqN52_N55_2=2212) acqN52_N55_3 = 1.
If (acqN52_N55_2=2221) acqN52_N55_3 = 1.
If (acqN52_N55_2=1122) acqN52_N55_3 = 1.
If (acqN52_N55_2=1222) acqN52_N55_3 = 1.
If (acqN52_N55_2=2122) acqN52_N55_3 = 1.

temp.
select if (xyroute = 2).
regr acqN52_N55_3.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.




For Table 6 - Modes differences in middle category selection 
	Question ID
	Actual Question Numbers
	CAPI neff (n/design effect for CAPI interviewers)
	CATI neff (n/design effect for CATI interviewers)
	Syntax

	7
	N35xy
	252
	225
	*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CAPI.

GET
  FILE= ‘CAPI only cases’.
USE ALL.
SAMPLE  252 from 282.
EXECUTE.
ADD FILES /FILE=*
  /FILE= ‘CATI and WEB only cases'.
EXECUTE.

RECODE N35xy (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO N35xymid.
regr N35xymid.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.



*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CATI.

GET
   FILE=‘CATI only cases’.
USE ALL.
SAMPLE  225 from 314.
EXECUTE.
ADD FILES /FILE=*
  /FILE= ‘CAPI and WEB only cases’. 
EXECUTE.
RECODE N35xy (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO N35xymid.
regr N35xymid.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.


	8
	N36x
	Small workload size
	Negative rho
	*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CAPI and WEB > CATI.

GET
  FILE=‘945 cases’.
RECODE N36x (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO N36xmid.

temp.
select if (xyroute = 1).
regr N36xmid.


	9
	N37xy
	Negative Rho
	114
	*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CAPI.

GET
  FILE=‘945 cases’.
RECODE N37xy (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO N37xymid..
regr N37xymid.



*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CATI.

GET
   FILE=‘CATI only cases’.
USE ALL.
SAMPLE  114 from 314.
EXECUTE.
ADD FILES /FILE=*
  /FILE= ‘CAPI and WEB only cases’.
EXECUTE.
RECODE N37xy (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO N37xymid.
regr N37xymid.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.


	10
	N38x
	Small workload size
	Negative rho
	*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CAPI and WEB > CATI.

GET
  FILE=‘945 cases’.
RECODE N38x (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO N38xmid.

temp.
select if (xyroute = 1).
regr N38xmid.


	11
	FM64xy
	Negative rho
	Negative rho
	*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CAPI and WEB > CATI.

GET
  FILE=‘945 cases’.
RECODE FM64xy (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO FM64xymid.
regr FM64xymid.


	12
	FM65xy
	Negative rho
	Negative rho
	*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CAPI and WEB > CATI.

GET
  FILE=‘945 cases’.
RECODE FM65xy (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO FM65xymid.
regr FM65xymid.


	13
	FM66xy
	Negative rho
	135
	*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CAPI.

GET
  FILE=‘945 cases’.
RECODE FM66xy (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO FM66xymid.
regr FM66xymid.



*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CATI.

GET
   FILE=‘CATI only cases’.
USE ALL.
SAMPLE  135 from 314.
EXECUTE.
ADD FILES /FILE=*
  /FILE= ‘CAPI and WEB only cases’.
EXECUTE.
RECODE FM66xy (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO FM66xymid.
regr FM66xymid.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.


	14
	FM67x
	Small workload size
	156
	*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CAPI.

GET
  FILE=‘945 cases’.
RECODE FM67x (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO FM67xmid.
temp.
select if (xyroute = 1).
regr FM67xmid.



*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CATI.

GET
   FILE=‘CATI only cases’.
USE ALL.
select if (xyroute = 1).
SAMPLE  156 from 314.
EXECUTE.
ADD FILES /FILE=*
  /FILE= ‘CAPI and WEB only cases’.
EXECUTE.
RECODE FM67x (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO FM67xmid.
temp.
select if (xyroute = 1).
regr FM67xmid.


	15
	N52xy
	276
	203
	*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CAPI.

GET
  FILE=‘CAPI only cases’.
USE ALL.
SAMPLE  276 from 282.
EXECUTE.
ADD FILES /FILE=*
  /FILE= ‘CATI and WEB only cases'.
EXECUTE.
RECODE N52xy (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO N52xymid.
regr N52xymid.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.



*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CATI.
GET
  FILE=‘CATI only cases’.
USE ALL.
SAMPLE  203 from 313.
EXECUTE.
ADD FILES /FILE=*
  /FILE=‘CAPI and WEB only cases’. 
EXECUTE.
RECODE N52xy (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO N52xymid.
regr N52xymid.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.


	16
	N53xy
	223
	206
	*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CAPI.

GET
  FILE=‘CAPI only cases’.
USE ALL.
SAMPLE  223 from 281.
EXECUTE.
ADD FILES /FILE=*
  /FILE= ‘CATI and WEB only cases'.
EXECUTE.
RECODE N53xy (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO N53xymid.
regr N53xymid.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.



*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CATI.

GET
  FILE= ‘CATI only cases’.
USE ALL.
SAMPLE  206 from 313.
EXECUTE.
ADD FILES /FILE=*
  /FILE= ‘CAPI and WEB only cases’.
EXECUTE.
RECODE N53xy (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO N53xymid.
regr N53xymid.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.


	17
	N54y
	Small workload sizes
	79
	*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CAPI.

GET
  FILE=‘945 cases’.
RECODE N54y (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO N54ymid.
temp.
select if (xyroute = 2).
regr N54ymid.



*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CATI.

GET
  FILE= ‘CATI only cases’.
USE ALL.
select if (xyroute = 2).
SAMPLE  79 from 155.
EXECUTE.
ADD FILES /FILE=*
  /FILE= ‘CAPI and WEB only cases’.
EXECUTE.
RECODE N54xy (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO N54ymid.
temp.
select if (xyroute = 2).
regr N54ymid.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.


	18
	N55y
	Small workload sizes
	134
	*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CAPI.

GET
  FILE=‘945 cases’.
RECODE N55y (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO N55ymid.
temp.
select if (xyroute = 2).
regr N55ymid.



*MIDDLE CATEGORY SELECTIONS - Hypothesis WEB > CATI.

GET
  FILE= ‘CATI only cases’.
USE ALL.
select if (xyroute = 2).
SAMPLE  134 from 155.
EXECUTE.
ADD FILES /FILE=*
  /FILE= ‘CAPI and WEB only cases’.
EXECUTE.
RECODE N55xy (1=0) (2=0) (3=1) (4=0) (5=0) (ELSE=SYSMIS) INTO N55xymid.
temp.
select if (xyroute = 2).
regr N55xymid.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.





For Table 7a - Mode differences in primacy effects between CAPI with showcard and web
	Question ID
	Actual Question Numbers
	CAPI neff (n/design effect for CAPI interviewers)
	Syntax

	1
	N44y
	Workload size too small
	*PRIMACY EFFECTS - Hypothesis WEB > CAPI.

GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=2 and ZAroute_rec=2).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘WEB only cases'.
EXECUTE.

SELECT IF (XYroute=2).
EXECUTE.

RECODE N44y (1=1) (2=0) (3=0) (4=0) (5=0) (6=0) (7=0) (ELSE=SYSMIS) INTO N44yprim.
regr N44yprim.


	2
	N43y
	Workload size too small
	*PRIMACY EFFECTS - Hypothesis WEB > CAPI.

GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=2 and ZAroute_rec=2).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘WEB only cases'.
EXECUTE.

SELECT IF (XYroute=2).
EXECUTE.

RECODE N43y (1=1) (2=0) (3=0) (4=0) (5=0) (6=0) (7=0) (ELSE=SYSMIS) INTO N43yprim.
regr N43yprim.


	3
	FM82x
	Workload size too small
	*PRIMACY EFFECTS - Hypothesis WEB > CAPI.

GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=1 and ZAroute_rec=1).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘WEB only cases'.
EXECUTE.

SELECT IF (XYroute=1).
EXECUTE.

RECODE FM82x (1=1) (2=0) (3=0) (4=0) (5=0) (6=0) (7=0) (ELSE=SYSMIS) INTO FM82xprim.
regr FM82xprim.


	4
	FM81x
	Workload size too small
	*PRIMACY EFFECTS - Hypothesis WEB > CAPI.

GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=1 and ZAroute_rec=1).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘WEB only cases'.
EXECUTE.

SELECT IF (XYroute=1).
EXECUTE.

RECODE FM81x (1=1) (2=0) (3=0) (4=0) (5=0) (6=0) (7=0) (8=0) (ELSE=SYSMIS) INTO FM81xprim.
regr FM81xprim.


	5
	FM75y
	Workload size too small
	*PRIMACY EFFECTS - Hypothesis WEB > CAPI.

GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=2 and ZAroute_rec=2).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘WEB only cases'.
EXECUTE.

SELECT IF (XYroute=2).
EXECUTE.

RECODE FM75y (1=1) (2=0) (3=0) (4=0) (5=0) (6=0) (7=0) (8=0) (ELSE=SYSMIS) INTO FM75yprim.
regr FM75yprim.


	6
	N39x
	Workload size too small
	*PRIMACY EFFECTS - Hypothesis WEB > CAPI.

GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=1 and ZAroute_rec=1).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘WEB only cases'.
EXECUTE.

SELECT IF (XYroute=1).
EXECUTE.

RECODE N39x (1=1) (2=0) (3=0) (4=0) (5=0) (6=0) (7=0) (ELSE=SYSMIS) INTO N39xprim.
regr N39xprim.



For Table 7b - Mode differences between CAPI (no showcard)/CATI recency effects and web primacy effects
	Question ID
	Actual Question Numbers
	CAPI neff (n/design effect for CAPI interviewers)
	CATI neff (n/design effect for CATI interviewers)
	Syntax

	1
	N44y - Primacy
	Workload size too small
	DEFF=0
	*PRIMACY EFFECTS - Hypothesis WEB > CAPI and WEB> CATI.

GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=2 and ZAroute_rec=1).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘CATI and WEB only cases'.
EXECUTE.

SELECT IF (XYroute=2).
EXECUTE.

RECODE N44y (1=1) (2=0) (3=0) (4=0) (5=0) (6=0) (7=0) (ELSE=SYSMIS) INTO N44yprim.
regr N44yprim.


	1
	N44y - Recency
	Workload size too small
	DEFF=0
	*RECENCY EFFECTS - Hypothesis CAPI>WEB and CATI>WEB.

GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=2 and ZAroute_rec=1).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘CATI and WEB only cases'.
EXECUTE.

SELECT IF (XYroute=2).
EXECUTE.

RECODE N44y (1=0) (2=0) (3=0) (4=0) (5=0) (6=0) (7=1) (ELSE=SYSMIS) INTO N44yrec.
regr N44yrec.


	2
	N43y - Primacy
	Workload size too small
	Negative rho
	*PRIMACY EFFECTS - Hypothesis WEB > CAPI and WEB> CATI.
GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=2 and ZAroute_rec=1).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘CATI and WEB only cases'.
EXECUTE.

SELECT IF (XYroute=2).
EXECUTE.

RECODE N43y (1=1) (2=0) (3=0) (4=0) (5=0) (6=0) (7=0) (ELSE=SYSMIS) INTO N43yprim.
regr N43yprim.


	2
	N43y - Recency
	Workload size too small
	Negative rho
	*RECENCY EFFECTS - Hypothesis CAPI>WEB and CATI>WEB.

GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=2 and ZAroute_rec=1).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘CATI and WEB only cases'.
EXECUTE.

SELECT IF (XYroute=2).
EXECUTE.

RECODE N43y (1=0) (2=0) (3=0) (4=0) (5=0) (6=0) (7=1) (ELSE=SYSMIS) INTO N43yrec.
regr N43yrec.


	3
	FM82x - Primacy
	Workload size too small
	Negative rho
	*PRIMACY EFFECTS - Hypothesis WEB > CAPI and WEB> CATI.

GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=1 and ZAroute_rec=2).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘CATI and WEB only cases'.
EXECUTE.

SELECT IF (XYroute=1).
EXECUTE.

RECODE FM82x (1=1) (2=0) (3=0) (4=0) (5=0) (6=0) (7=0) (ELSE=SYSMIS) INTO FM82xprim.
regr FM82xprim.


	3
	FM82x - Recency
	Workload size too small
	Negative rho
	*RECENCY EFFECTS - Hypothesis CAPI>WEB and CATI>WEB.

GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=1 and ZAroute_rec=2).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘CATI and WEB only cases'.
EXECUTE.

SELECT IF (XYroute=1).
EXECUTE.

RECODE FM82x (1=0) (2=0) (3=0) (4=0) (5=0) (6=0) (7=1) (ELSE=SYSMIS) INTO FM82xrec.
regr FM82xrec.


	4
	FM81x - Primacy
	Workload size too small
	125
	*PRIMACY EFFECTS - Hypothesis WEB > CAPI and WEB> CATI.

GET
  FILE==‘CATI only cases’.
USE ALL.
SELECT IF (XYroute=1).
EXECUTE.
SAMPLE  125 from 161.
EXECUTE. 

SAVE OUTFILE='CATI reduced 1.sav'
  /COMPRESSED. 
EXECUTE.

GET
  FILE=‘CAPI only cases’.
SELECT IF (XYroute=1 and ZAroute_rec=2).
EXECUTE.

SAVE OUTFILE='CAPI ZAroute 1.sav'
  /COMPRESSED. 
EXECUTE.

ADD FILES /FILE=* 
  /FILE='CATI reduced 1.sav'. 
EXECUTE.
ADD FILES /FILE=* 
/FILE='CAWI Only.sav'. 
EXECUTE.

SELECT IF (XYroute=1).
EXECUTE.

RECODE FM81x (1=1) (2=0) (3=0) (4=0) (5=0) (6=0) (7=0) (8=0) (ELSE=SYSMIS) INTO FM81xprim.
regr FM81xprim.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.


	4
	FM81x - Recency
	Workload size too small
	125
	*RECENCY EFFECTS - Hypothesis CAPI>WEB and CATI>WEB.

GET
  FILE==‘CATI only cases’.
USE ALL.
SELECT IF (XYroute=1).
EXECUTE.
SAMPLE  125 from 161.
EXECUTE. 

SAVE OUTFILE='CATI reduced 1.sav'
  /COMPRESSED. 
EXECUTE.

GET
  FILE=‘CAPI only cases’.
SELECT IF (XYroute=1 and ZAroute_rec=2).
EXECUTE.

SAVE OUTFILE='CAPI ZAroute 1.sav'
  /COMPRESSED. 
EXECUTE.

ADD FILES /FILE=* 
  /FILE='CATI reduced 1.sav'. 
EXECUTE.
ADD FILES /FILE=* 
/FILE='CAWI Only.sav'. 
EXECUTE.

SELECT IF (XYroute=1).
EXECUTE.

RECODE FM81x (1=0) (2=0) (3=0) (4=0) (5=0) (6=0) (7=0) (8=1) (ELSE=SYSMIS) INTO FM81xrec.
regr FM81xrec.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.


	5
	FM75y - Primacy
	Workload size too small
	Negative rho
	*PRIMACY EFFECTS - Hypothesis WEB > CAPI and WEB> CATI.

GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=2 and ZAroute_rec=1).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘CATI and WEB only cases'.
EXECUTE.

SELECT IF (XYroute=2).
EXECUTE.

RECODE FM75y (1=1) (2=0) (3=0) (4=0) (5=0) (6=0) (7=0) (8=0) (ELSE=SYSMIS) INTO FM75yprim.
regr FM75yprim.


	5
	FM75y - Recency
	Workload size too small
	Negative rho
	*RECENCY EFFECTS - Hypothesis CAPI>WEB and CATI>WEB.

GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=2 and ZAroute_rec=1).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘CATI and WEB only cases'.
EXECUTE.

SELECT IF (XYroute=2).
EXECUTE.

RECODE FM75y (1=0) (2=0) (3=0) (4=0) (5=0) (6=0) (7=0) (8=1) (ELSE=SYSMIS) INTO FM75yrec.
regr FM75yrec.


	6
	N39x - Primacy
	Workload size too small
	DEFF=0
	*PRIMACY EFFECTS - Hypothesis WEB > CAPI and WEB> CATI.

GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=1 and ZAroute_rec=2).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘CATI and WEB only cases'.
EXECUTE.

SELECT IF (XYroute=1).
EXECUTE.

RECODE N39x (1=1) (2=0) (3=0) (4=0) (5=0) (6=0) (7=0) (ELSE=SYSMIS) INTO N39xprim.
regr N39xprim.


	6
	N39x - Recency
	Workload size too small
	DEFF=0
	*RECENCY EFFECTS - Hypothesis CAPI>WEB and CATI>WEB.

GET
  FILE= ‘CAPI only cases’.

SELECT IF (XYroute=1 and ZAroute_rec=2).
EXECUTE.

ADD FILES /FILE=*
  /FILE= ‘CATI and WEB only cases'.
EXECUTE.

SELECT IF (XYroute=1).
EXECUTE.

RECODE N39x (1=0) (2=0) (3=0) (4=0) (5=0) (6=0) (7=1) (ELSE=SYSMIS) INTO N39xrec.
regr N39xrec.




For Table 8- Mode differences in selection of the social desirability answer –‘strongly agree’ and ‘agree’ to the sensitive questions
	Question ID
	Actual Question Numbers
	CAPI neff (n/design effect for CAPI interviewers)
	CATI neff (n/design effect for CATI interviewers)
	Syntax

	15
	N52xy
	Negative rho
	Negative rho
	*SENSITIVE - Hypothesis CAPI > WEB and CATI>WEB.

GET
  FILE=‘945 cases’.
RECODE N52xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N52xysens.
regr N52xysens.

	16
	N53xy
	257
	Negative rho
	*SENSITIVE – Hypothesis CAPI>WEB.

GET
  FILE=‘CAPI only cases’.
USE ALL. 
SAMPLE 257 from 281. 
EXECUTE.
ADD FILES /FILE=* 
  /FILE=‘CATI and WEB only cases'. 
EXECUTE.
RECODE N53xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N53xysens. 
regr N53xysens.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.



*SENSITIVE – Hypothesis CATI>WEB.

GET
  FILE=‘945 cases’.
RECODE N53xy (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N53xysens. 
regr N53xysens.


	17
	N54y
	Negative rho
	114
	*SENSITIVE - Hypothesis CAPI > WEB.

GET
  FILE=‘945 cases’.
RECODE N54y (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N54ysens. 
temp.
select if (xyroute = 2).
regr N54ysens.



*SENSITIVE – Hypothesis CATI>WEB.

GET
  FILE=‘CATI only cases’.
USE ALL. 
SELECT IF (XYroute =2).
SAMPLE 114 from 155. 
EXECUTE.
ADD FILES /FILE=* 
  /FILE= ‘CAPI and WEB only cases'. 

RECODE N54y (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N54ysens. 
temp.
select if (xyroute = 2).
regr N54ysens.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.


	18
	N55y
	Workload size too small
	94
	*SENSITIVE - Hypothesis CAPI > WEB.

GET
  FILE=‘945 cases’.
RECODE N55y (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N55ysens. 
temp.
select if (xyroute = 2).
regr N55ysens.

GET
  FILE=‘CATI only cases’.
USE ALL. 
SELECT IF (XYroute =2).
SAMPLE 94 from 155. 
EXECUTE.
ADD FILES /FILE=* 
  /FILE= ‘CAPI and WEB only cases'. 

RECODE N55y (1=1) (2=1) (3=0) (4=0) (5=0) (ELSE=SYSMIS) INTO N55ysens. 
temp.
select if (xyroute = 2).
regr N55ysens.

*REPEAT 4 MORE TIMES AND TAKE THE AVERAGE OF THE 5 RUNS.




